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POLITICAL SCIENCE
Paper II
Time Allowed : 1% Hours] - [Maximum Marks : 100

L
Note — This question paper contains fifty (50) questions with multiple choice

answers. Each question carries two (2). marks. Attempt all questions.

1. Which one of the following is not authored by Plato ?

(A) Symposium : (B) Crito

(C) The Subjestion of Women (D) Statesman
2 Which of the following are true about Aristotle ? (Use the codes given) :

(i) the 'aut-hority of the state rests on social contract

(1)  the state is a natural entity

(iiiy humans, like bees, naturally congregé.te

(iv)' state is a perfect human community

Codes :

(A) Only (i) and (ii)‘are true

(B) Only (if) and (i) are true

(C) Only (iii) and (iv) are true

(D) Only (i), (iii) and (iv) are true
T.B.C. : 40/13/ET ;.
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3. Which one of the following statements is #rue about the views of Thomas

Aquinas on law ?

(A)  Natural law is higher than divine law

(B) Divine law is higher than eternal law

(C) Eternal law is higher than divine law

(D)  Positive law is higher than natural law

Given below in List I are the names of some political thinkers and in

List IT ideas associated with them. With the help of codes given, find the

correct answer.

List I
(@)  Gramsci
(b) Mao
(e) Nozick
(d)  Green
Codes :

(A)  (a)-(iii), (b)-(@v), (e)=i), (d)—(ii)
(B)  (a)-(iii), (b)-(iv), (e)—(ii), (d)—(i)
(C) (a)—(izi), (b)—(ii), (e)—(iv), (d)—(i)

(D) (a)-Gi), (b)ii), (e)-(i), (d)—(iv)
T.B.C. : 40/13/ET 4
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5. Which modern Indian political thinker enunciated the idea of Hindutva ?
(A) Ambedkar (B) Savarkar
(C) Aurobindo Ghosh (D) Gandhi

-

6. With which book is the resurgence of political theory widely associated ?
(A) Sartori’s Democratic Theory ‘
(B) MecPherson’s Democratic Theory
(C) Rawls’ A Theory of Justice
(D) Dahl’s Preface to Democratic Theory

o Which thinker made a distinction between higher pleasures and lower

pleasures ?
(A) Bentham ' (B) Green
(C) Gandhi (D) Mill

8. According to Marx which of the following lacked revolutionary potential ?

(A) Peasantry (B) Bureaucracy
(C) Petty bourgeoisie (D) Intellectuals
9. In which work did Lenin enunciate the idea of democratic centralism ?

(A)  Imperialism, the Highest Stage of Capitalism
(B) What is to be Done
(C) Development of Capitalism in Russia

(D) Two Tactics of Social Democracy in Democratic Revolution

T.B.C. : 40/13/ET 6
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10.

11;

12.

13.

14.

Who said “What is rational is actual, and what is actual is rational” ?

(A) Hegel (B) Rousseau

(C) Machiavelli (D) M.N. Roy

Under which legislation was Federal scheme introduced during the British

rule ?

(A) Minto-Morley Reforms

(B) Govt. of India Act, 1919

(€)' Govt. of India Act, 1935

(D) Indian Independ;ence Act, 1947

Which Article of the Indian Constitution deals with Election Commission of

India ?
(A) Article 249 (B) = Article 310.
(C) Article 280 . (D) Article 324

In which year was Congress Socialist Party (CSP) set up ?
(A) 1928 . (B) 1934
(C) 1937 ' D) 1948

Which article of the Indian Constitution provides for equal pay for equal work

for both, men and women ?

(A) Article 38 (B) Article 39¢

(C) Article 39d (D) Article 40

T.B.C. : 40/13/ET | 8



10.

11.

12.

13.

14.

T.B.C: :

%mﬁmmﬁ“ﬁa@m%%m%aﬁx@rm%aﬁm
%n ?
(A) e _ (B) &4

-

(C) HfFamEet | | T (D) T W ™

fafeer e # T i gR WA T s w2

‘(A) ﬁﬁﬂ—ﬁﬁ gur | (B) wRa ww@r srfafm, 1919
(C) 9RE TER sfufm, 1935 (D) WRA o sefrEm, 194;7
Wéﬁmmaﬁﬂmsﬁﬁamwaﬁmﬂmﬁ%% ?

(A) 3TT=% 249 ' (B) == 310

(C) =% 280 ‘ (D)H =R 324

wtre drfae W@l (ﬁmﬁ.)%ﬁmmaﬁg 2

(A) 1928 (B) 1934°

©) 1937 ' D) 1948

W HfauE g sei # TEW ek Afeensd # faw wem wm # fad wEe

IJaq &1 gEEEH T 7

(A) =R 38 (B) arfréa 399

(C) =3 390 (D) &= 40

40/13/ET 9 P.T-Q.



15. . Which one of the following is not provided in the Constitution of India ?
(A)  Union Public Service Commission
(B)  Planning Commission
(C) Comptroller and Auditor-General of India
(D) Finance Commission * :
16.  Which legislative body in India is presided over by a non-member ?
(A) State Vidhan Sabha (B) State Vidhan Parishad

(C) Rajya Sabha (D) Lok Sabha

17.  Given below in List I aré the names of some authors and in List II the title
of their books. With the help of codes given below find the correct

match :
List 1 List II
(@) A.G. Noorani () Parliament in India

(b) Morris-Jones W.H. (iz) Introduction to the Constitution of India

() Ivor Jennings (z1i) India’s Constitution and Politics
(d) D.D. Basu (fv) Some Characteristics of Indian Constitution
Codes :

(A) (@)=, b)), (e)-Gv), (d)—) (B)  (a)iv), (b)iii), (c)-i), (d)—i)

(C)  (a)-(id), (b)), (e)-Gv), (d)={) (D) (a)—(i),'(b)—(ii), (e)—(iti), (d)—iv)

T.B.C. : 40/13/ET 10
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18. What is the operative aspect of Writ of Habeas Corpus ?
(A)i it quashes the decision given by lower court
(B) it asks as to by what authority the decision has been taken
(C) it requires the person tobe produced before the court
(D) it orders tﬁe lower court to do it
19. In the following list find the mismatch :
(A) Telugu Desam—Andhra Pradesh -
(B) Hilopa—Haryana
(C) PDP—J&K
(D) DMEK—Tamil Nadu
20. Find the mismatch in the following List :
(A) Mayawati—BSP
(B) Akhilesh Yadav—SP
(C) Mamta Banerjee—TMC
(D)  Shivraj Singh Chauhan—Shiv Sena

21. The slogan “All power to the Soviets’ was used in the revolution which took

place in :
(A) Vietnam (B) France
(C) Russia (D) China

T.B.C. : 40/13/ET 12
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22.  Which among the following statements are correct understanding of the theory

of underdevelopment ?

(2)

(z2)

(¢ii)

(iv)

(A)

(C)

‘The regimes which are the most underdeveloped and feudal-seeming
today are the ones which had the closest ties to the metropolis in the
past’

‘The regimes which are the most underdeveloped and feudal-seeming
today are the ones which had the weakest ties to the metropolis in

the past’™

‘The satellites efcperience their greatest economic development and
specially their most classically capitalist industrial development if and

when their ties to their metropolis are the weakest.”

“The satellites experience their greatest economic development and
specially their most classically capitalist industrial development if and

when their ties to their metropolis are the strongest’.
(2), (iii) (B) (@), (Gv)

(iv), ) | @) (i), )

T.B.C. : 40/13/ET 14
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23.  Which among the following cannot be considered as the main feature of the

traditional approach to the study of comparative government and politics ?
(A)  Parochial

(B)  Static

(C)  Monographic

(D)  Sensitive to informal factors and processes

24.  Which among the following would be apt description of subject political cultures |

according to Almond and Verba ?

(A) Subject political cultures were characterised by widespread knowledge
about political processes, but a disinclination to participate in political

activity, often because of feelings of powerlessness

(B)  Subject political cultures were characterized by general ignorance about

political objects and a consequent lack of involvement in political activity

(C)  Subject political cultures combined knowledge about politics with a

willingness to participate in the political process
(D)  None of the above

25.  Who among the following authors has used ‘J-curve’ model to explain political

revolutions ?
(A) Crane Brinton (B) Tedd Gurr
(C) Charles Tilly (D)  James Chowning Davies

T.B.C. : 40/13/ET 16
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96. Match List I with List IT and select the correct answer 1rom tne coaes given

below :

(A)
(B)
(C)

(D)

List I List II
United State§ (1)  House of Commons
France "~ (2)  Federal Council
Germany (3) National Assembly
Canada (4)  House of Representatives

(@) (b) o (c) (d)

(2) (4.) (1) (3)

(3) (2) (4) (1)

(4) (3) (2) (1)

(1) (2) (3) (4)

97 What is considered to be the key feature of the Prime Ministerial Government ?

(A)

(B)

(C)

(D)

Prime Minister is considered as the first among equals

Collective deliberation and effective decision-making in and by the
cabinet has been replaced by monocratic decision-making by the prime

minister
Ministers are policy dictators resulting in fragmented governments

Prime minister follows the principle of collective responsibility and

reposes complete faith in the cabinet

T.B.C. : 40/13/ET 18
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29.

30.

Which among the following is not a key feature of dominant party system ?

(A)
(B)
(&)
(D)

One large party with more than absolute majority of votes and seats
No alternation between parties who form government
One-party government

Many other parties approaching 50% of votes and seats

Which among the following is the correct description of the first part of the

post-electoral system ?

(A)

(B)

(C)

(D)

the candidate securing most votes and securing majority votes is elected

on the first and only ballot within each single-member district

the candidate securing most votes (not necessarily majority) is elected

on the first and only ballot within each single-member district

voters rank candidates. If no candidate wins a majority of first
preferences, the bottom candidate is eliminated and his or her votes

are redistributed by second preferences

the candidate securing the absolute majority of votes of the total

electorate within each single member district

According to Carl J. Friedrich constitutionalism refers to limited government’.

The principle of limited government means :

(A)

(B)
(€)
(D)

situations wherein the constitution ‘effectively restrains’ those who control

the coercive instruments of the state
government should have limited power to intervene in the economy
government should be limited to managing the law and order

government has the mandate to limit the values enshrined in the

constitution

T.B.C. : 40/13/ET 20
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31.

32.

33.

34.

35.

Which one of the following is the oldest approach to the study of Public
Administration ?

(A) Philosophical approach (B) Historical approach

(C) Legal approach : - (D) Behavioural approach

The Human Relations Theory of organisation focuses on :

(A) Informal Grou_ps (B) Formal Organisation

(C) Specialization : . (D)  Economy

Who among the following administrative thinkers was awarded the Nobel

-

Prize in 1978 ?
(A) Max Weber (B) Herbert Simon
(C) Chester Barnard (D)  Paul Appleby

Who among the following has termed the auxiliary function as the house-

keeping function ?

(A) Pfiffner and Presthus (B) Luther Gulick

(C) - W.F. Willoughby D) D. Waldo

The principle of Span of Control has been elaborated by :
(A) L.D. White (B) Herbert Simon

(C) Graicunas (D) Pfiffner

T.B.C. : 40/13/ET » 22
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36.

37.

38.

Which one of the following are included in the Max Weber’s classification

of authority ?

(1) Elite authority . (2)  Traditional authority

(3) Charismatic authority ; (4)  Legal-Rational authority
Select the correct answer from the codes given below :

(A) (1), (2) and (3) (B) (1) and (4)

(C) (2), (3) and (4) ‘ D) (@), (2), (3) and (4)

.

The Fulton Committee Report was concerned with reforms in the civil service

of :
(A) U.S.A. (B) UK
(C) India (D) France

The purpose of an adjournment motion is to :

(A) propose a reduction in the budget

(B) seek the approval of the House on a proposal

(C) draw the attention of the House to a matter of urgent public importgnce

(D) seek the leave of the House to introduce a government bill

T.B.C. : 40/13/ET 24
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D) e fam v F0 P fow v Fowhwfa wie
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39.

40.

41.

42,

The Right to Information Act, 2005 is applicable to :

(A) the whole of India

(B) the whole of India ex0'eptA the states of Assam, Nagaland, Tripura

Manipur, Mizoram and Arunachal Pradesh
(C) -the whole of India except the state of Jammu and Kashmir

(D)  the whole of India except union territories .

How many types of accountability have been listed by O.P. Dwivedi and Joseph

G. Jabbra ?
(A) 2 types (B) 4 types
(C) 6 types (D) 8 types

According to Morgenthau the sole guide to foreign policy is :

(A) Peace (B) National Interest

(C)  Conflict Resolution (D)  Prosperity

Which of the following is an intan.gible element of National Power ?
(A) Leadership (B) Military strength

(C) Geography (D)  Natural resources

T.B.C. : 40/13/ET ' 26



39.

40.

41.

42.

2005 @1 g=A1 w1 AfuFR fafms @/ @ &a & 2

(A) T ¥Ra #H

(B)  &18H, Armerve, fqu, wfor, fasim ok eromee wewr asdl ) deat OR
g | ‘ |

(C) SH-HHR T &I BEgHT T YT H

(D) FEnfga w3 W SEE R uRd §

.. fgaet iR % S, wEn ¥ Ry TeR § Sweire (Gweefated) ®

s R

(A) T YHR * (B) =N YER &

(C) B: UHR H (D) 73 UHR &

Aiigs & R fagwr ifa %1 uw A Anfeviw o+ ® 2

(A) wnf= B) =M fedq

(C)‘ Fere fato (D)  EETETE

frafafea # wa wifE &1 ol o w2

(A)  Fgd (B) fts wfem

(C) i h (D) wrHfas G
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43.

46.

Warsaw Treaty or Pact came into being in the year :
(A) 1952 (B) 1953
(C) 1954 - T D) 1955

In which year the U.N.O. declaration on the establishment of a New

International Economic Order was adopted ?
(A) 1973 (B) 1974
(C) 1975 < (D) 1976

Which member of the European Community has not adopted the Euro as

its currency and is not in favour of complete integration ?
(A) France (B) Germany
(C) Italy : (D)  United Kingdom

Which country was not permitted to occupy its seat as a permanent member

of the Security Council for a very long period ?
(A) France (B) USSR

(C) China (D) Japan

T.B.C. : 40/13/ET 28



43.

44.

45.

46.

argf wfy/dae feg od sifaa § smd/emn 2

(A) 1952 . (B) .1953

(C) 1954 -_r (D) 1955

T T T W = SeORHE SEEfE e g s fre 9 wia g 2
(A) 1973 (B) 1974

(C) 1975 ) | (D) 1976

L.,

T e & e = ¥ g0 1 o gw A ot ¥ ok 9 € @' gl

faerg =1 g&eR 2

(A) Y (B) AT

(C) et ; D) W%gmq

form 291 1 @ GHE 9% 999 U 99 1 gian ufug # T T W@ ueu
H fear w27
(A) . wE ' (B)  YTETEER

(C) =H (D)  Sm9H
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47. Which country used its good offices to reduce tension between India and China

during the 1962 war ?

(A) USSR o : (B) Japan

(C) Sri Lanka (D) France
48. India’s relationship with ASEAN is based on :

(A) Permanent membership of ASEAN

(B) Temporary membership

(C) Sectoral partner

(D) Full dialogue partner
49. Pakistan was a member of which organisation "

(A) Warsaw Pact | (B) - APEC

(C) ASEAN (D) SEATO

50. The oldest regional organisation is :

(A) OAS (B) OAU

(C) EEC (D) SAARC
T.B.C. : 40/13/ET 30 '



47.

48.

49.

50.

1962 % 5 % H99 %9 9 3 99 @R 919 # &9 o F) 9 59 3 fou

39 Heud 1 gam fEm 2

(A)  9.TH.TH-AR. (B) =A™

(C) e - (D) W™

afeam ¥ wRE ® T fEE W eRa ¥ 2

(A) oufgaH =1 el FeEa W (B)  SR9E 9eEd W
(C) &g Tearft W .(D) #aﬁﬁwvmﬁm.
iferEE f6e gred & W“m ?

(A) T T (B) &% (QHLEHn)
(C) TTHELE. (fam) D) wERnded (He)
Tl GO &1 e s § 2

(A)  ILTTH. | (B) Ty

(C) zEW. (D) 9 (TH.UTIE.)
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